LED DA]E

DR S %

UVl

=]
X724

a7

97

LT

\ 4
A A VA A A VA

3

8T
6T
0¢

1¢c

[44

%%%% %%%% EHIT470Q M52k Q< BLY X 8K

€¢

\ 4
Y

ve
G¢
9¢

LC
8¢

€ Inop
Z Inop
T IN0p
0 1n0p
ano

aNo©
€ 1noe

Z 1noe
T Inoe
0 Inoe
NE'E
anNo
anNo
NS

GAINER_MINI

g uip
¢ uip
T ulp
0 uip
ano
ano
g ure
¢ ure
T ure
o ure
NEE
ano
ano

NS

Andolslolollololgl ol
— |

Gainer mini & LED 8 K& D7% ¢

(sample1, sample2)




EIIZTIkQ MS5100k QBN X 47K

Ja—LlE 1TkQHM5100k QR 0N

N

AN

FEEHnH

O OO <IIMIN|H|O O 0|IN|OIn
‘“|‘“|‘“|‘”|‘”|”|”|‘“|‘“|T|H|H|H|

€ nop
¢ nop
T Inop
0 1Inop
ano

aNo
¢ 1noe

Z 1noe
T 1noe
0 1noe
NE'E
aNo
aNo
NS

GAINER_MINI

g uip
¢ uip
T ulp

o uip |

aNo
anNo
g ure
¢ ure
T ure
o ure
NEE
anNo
anNo

NS

N

Gainer mini TA A%

(sample3, sample4)

SW

— |||

VR




ROW 1

Gainer mini with matrix LED (sample 5)
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